# ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

### **TABULATION OF BIDS**

#### **CONTRACT # 2025006**

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 MO MM0 T04610	1C MM0-0-(230)T	LOCAL	MOHAVE	NORTHWEST	0		Yusuf Kadem

Highway Termini	Location	Work Description
-----------------	----------	------------------

MOHAVE COUNTY

<sup>•</sup> Pierce Ferry Rd from US 93 to

<sup>•</sup>Install Rumble Strips

#### Printed: 8/25/2025 Page 1 of 5

### **BID RESULTS FOR 2025006**

Bid Opening Date: 7/11/2025, Prequalification Required, Engineer Specialist: Yusuf Kadem

#### **Completion Date:**

#### 55 Working Days

The proposed project is on Pierce Ferry Road, located in the City of Dolan Springs in Mohave County The project limits are approximately 5.7 miles between US 93 and Lloyd Street. The work includes centerline and edge line rumble strip installation with fog coat. The work also includes centerline and edge line pavement marking and other related work.

Bid Rank	Compared To Department Estimat Option #	Bid Amount	Contractor	Extended Sum of Items
	+%	\$423,658.60	DEPARTMENT ESTIMATE	\$423,658.60
1	-19.3%	\$341,807.00	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$341,807.00
2	-17.3%	\$350,277.39	NEVADA BARRICADE & SIGN COMPANY, INC. 9530 NORTH VIRGINIA ST RENO, NV 89506-	\$350,277.39
3	-10.3%	\$379,973.00	HAWK CONTRACTING LLC 1022 E. LOYOLA DRIVE TEMPE, AZ 85282-	\$379,973.00

Winning Bidder is 19.3% Under Department Estimate (Difference = (\$81,851.60))

# Printed: 8/25/2025 Page 2 of 5 \*\*\* Bid Tabs for Proposal Pamphlet 2025006 \*\*\*

Item Number	Unit of Measure Ite	m Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
4040125	TON FO	OG COAT					_
Bid Rank	Department Estin	nate	5.000	\$2,250.000	\$11,250.00		
1	COMBS CONSTI	RUCTION COMPANY, INC.		\$2,500.000	\$12,500.00	+11.1%	
2	NEVADA BARRIO	CADE & SIGN COMPANY, INC.		\$3,500.000	\$17,500.00	+55.6%	
3	HAWK CONTRAC	CTING LLC		\$2,200.000	\$11,000.00	-2.2%	
7015052	L.FT. O	BLITERATE PAVEMENT MARKING	G (STRIPE)				
Bid Rank	Department Estin	nate	124,604.000	\$0.500	\$62,302.00		
1	COMBS CONST	RUCTION COMPANY, INC.		\$0.250	\$31,151.00	-50.0%	
2	NEVADA BARRIO	CADE & SIGN COMPANY, INC.		\$0.700	\$87,222.80	+40.0%	
3	HAWK CONTRAC	CTING LLC		\$0.380	\$47,349.52	-24.0%	_
7016030	EACH-DAY BA	ARRICADE (TYPE 1, TYPE 2, VER	RT.PANEL, TUBULAR MA	ARKER)			
Bid Rank	Department Estin	nate	1,320.000	\$0.500	\$660.00		
1	COMBS CONSTR	RUCTION COMPANY, INC.		\$0.250	\$330.00	-50.0%	
2	NEVADA BARRIO	CADE & SIGN COMPANY, INC.		\$0.200	\$264.00	-60.0%	
3	HAWK CONTRAC	CTING LLC		\$0.250	\$330.00	-50.0%	
7016031	EACH-DAY BA	ARRICADE (TYPE 3, HIGH LEVEL	FLAG TREE)				_
Bid Rank	Department Estin	nate	18.000	\$1.000	\$18.00		
1	COMBS CONSTR	RUCTION COMPANY, INC.		\$0.900	\$16.20	-10.0%	
2	NEVADA BARRIO	CADE & SIGN COMPANY, INC.		\$0.350	\$6.30	-65.0%	
3	HAWK CONTRAC	CTING LLC		\$1.000	\$18.00	+0.0%	
7016033	EACH-DAY PO	ORTABLE SIGN STAND (SPRING	TYPE)				
Bid Rank	Department Estin	nate	277.000	\$3.000	\$831.00		
1	COMBS CONSTR	RUCTION COMPANY, INC.		\$1.550	\$429.35	-48.3%	
2	NEVADA BARRIO	CADE & SIGN COMPANY, INC.		\$0.350	\$96.95	-88.3%	
3	HAWK CONTRAC	CTING LLC		\$1.000	\$277.00	-66.7%	
7016035	EACH-DAY W	ARNING LIGHT (TYPE A)					
Bid Rank	Department Estin	nate	277.000	\$0.500	\$138.50		
1	COMBS CONST	RUCTION COMPANY, INC.		\$0.250	\$69.25	-50.0%	
2	NEVADA BARRIO	CADE & SIGN COMPANY, INC.		\$0.200	\$55.40	-60.0%	
3	HAWK CONTRAC	CTING LLC		\$0.150	\$41.55	-70.0%	
7016037	EACH-DAY W	ARNING LIGHT (TYPE C)					
Bid Rank	Department Estin	nate	1,320.000	\$0.500	\$660.00		
1	COMBS CONSTR	RUCTION COMPANY, INC.		\$0.250	\$330.00	-50.0%	
2	NEVADA BARRIO	CADE & SIGN COMPANY, INC.		\$0.200	\$264.00	-60.0%	
3	HAWK CONTRAC	CTING LLC		\$0.150	\$198.00	-70.0%	
7016050	EACH-DAY TF	RUCK-MOUNTED ATTENUATOR					_
Bid Rank	Department Estin	nate	22.000	\$1,000.000	\$22,000.00		
1	COMBS CONST	RUCTION COMPANY, INC.		\$275.000	\$6,050.00	-72.5%	

# Printed: 8/25/2025 Page 3 of 5 \*\*\* Bid Tabs for Proposal Pamphlet 2025006 \*\*\*

	ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
<u> </u>	7016050	EACH-DAY TRUCK-MOUNTED ATTENUATOR				
	Bid Rank	Department Estimate	22.000	\$1,000.000	\$22,000.00	
	2	NEVADA BARRICADE & SIGN COMPANY, INC.		\$220.000	\$4,840.00	-78.0%
	3	HAWK CONTRACTING LLC		\$950.000	\$20,900.00	-5.0%
	7016051	EACH-DAY TEMPORARY SIGN (LESS THAN 10	S.F.)			
	Bid Rank	Department Estimate	109.000	\$1.000	\$109.00	
	1	COMBS CONSTRUCTION COMPANY, INC.		\$0.700	\$76.30	-30.0%
	2	NEVADA BARRICADE & SIGN COMPANY, INC.		\$0.200	\$21.80	-80.0%
	3	HAWK CONTRACTING LLC		\$0.750	\$81.75	-25.0%
	7016052	EACH-DAY TEMPORARY SIGN (10 S.F. OR MO	RE)			
	Bid Rank	Department Estimate	173.000	\$1.000	\$173.00	
	1	COMBS CONSTRUCTION COMPANY, INC.		\$0.750	\$129.75	-25.0%
	2	NEVADA BARRICADE & SIGN COMPANY, INC.		\$0.300	\$51.90	-70.0%
	3	HAWK CONTRACTING LLC		\$1.000	\$173.00	+0.0%
	7016061	EACH-DAY FLASHING ARROW PANEL				
	Bid Rank	Department Estimate	11.000	\$50.000	\$550.00	
	1	COMBS CONSTRUCTION COMPANY, INC.		\$25.000	\$275.00	-50.0%
	2	NEVADA BARRICADE & SIGN COMPANY, INC.		\$36.250	\$398.75	-27.5%
	3	HAWK CONTRACTING LLC		\$20.000	\$220.00	-60.0%
	7016067	EACH-DAY CHANGEABLE MESSAGE BOARD (	CONTRACTOR FURNIS	SHED)		
	Bid Rank	Department Estimate	32.000	\$60.000	\$1,920.00	
	1	COMBS CONSTRUCTION COMPANY, INC.		\$70.000	\$2,240.00	+16.7%
	2	NEVADA BARRICADE & SIGN COMPANY, INC.		\$65.250	\$2,088.00	+8.8%
	3	HAWK CONTRACTING LLC		\$45.000	\$1,440.00	-25.0%
	7016071	HOUR PILOT VEHICLE WITH DRIVER				
	Bid Rank	Department Estimate	72.000	\$110.000	\$7,920.00	
	1	COMBS CONSTRUCTION COMPANY, INC.		\$65.000	\$4,680.00	-40.9%
	2	NEVADA BARRICADE & SIGN COMPANY, INC.		\$108.750	\$7,830.00	-1.1%
	3	HAWK CONTRACTING LLC		\$75.000	\$5,400.00	-31.8%
,	7016075	HOUR FLAGGING SERVICES (CIVILIAN)				
	Bid Rank	Department Estimate	282.000	\$65.000	\$18,330.00	
	1	COMBS CONSTRUCTION COMPANY, INC.		\$30.000	\$8,460.00	-53.8%
	2	NEVADA BARRICADE & SIGN COMPANY, INC.		\$97.000	\$27,354.00	+49.2%
	3	HAWK CONTRACTING LLC		\$65.000	\$18,330.00	+0.0%
	7016079	HOUR FLAGGING SERVICES (UNIFORME	D OFFICER)			
	Bid Rank	Department Estimate	68.000	\$100.000	\$6,800.00	
	1	COMBS CONSTRUCTION COMPANY, INC.		\$155.000	\$10,540.00	+55.0%
	2	NEVADA BARRICADE & SIGN COMPANY, INC.		\$174.000	\$11,832.00	+74.0%

# Printed: 8/25/2025 \*\*\* Bid Tabs for Proposal Pamphlet 2025006 \*\*\* Page 4 of 5 \*\*\* Bid Tabs for Proposal Pamphlet 2025006 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016079	HOUR	FLAGGING SERVICES (UNIFORMED	O OFFICER)			
Bid Rank	Department	Estimate	68.000	\$100.000	\$6,800.00	
3	HAWK CON	ITRACTING LLC		\$85.000	\$5,780.00	-15.0%
7040007	L.FT.	PAVEMENT MARKING (WHITE EXTR	RUDED THERMOPLAS	STIC)(0.120")		
Bid Rank	Department	Estimate	85,470.000	\$0.900	\$76,923.00	
1	COMBS CC	INSTRUCTION COMPANY, INC.		\$0.950	\$81,196.50	+5.6%
2	NEVADA BA	ARRICADE & SIGN COMPANY, INC.		\$0.700	\$59,829.00	-22.2%
3	HAWK CON	ITRACTING LLC		\$0.900	\$76,923.00	+0.0%
7040008	L.FT.	PAVEMENT MARKING (YELLOW EX	TRUDED THERMOPL	ASTIC)(0.120")		
Bid Rank	Department	Estimate	39,134.000	\$0.900	\$35,220.60	
1	COMBS CC	INSTRUCTION COMPANY, INC.		\$0.950	\$37,177.30	+5.6%
2	NEVADA BA	ARRICADE & SIGN COMPANY, INC.		\$0.700	\$27,393.80	-22.2%
3	HAWK CON	ITRACTING LLC		\$0.900	\$35,220.60	+0.0%
7060015	EACH	PAVEMENT MARKER, RAISED, TYP	E D			
Bid Rank	Department	Estimate	728.000	\$12.000	\$8,736.00	
1	COMBS CC	INSTRUCTION COMPANY, INC.		\$3.000	\$2,184.00	-75.0%
2	NEVADA BA	ARRICADE & SIGN COMPANY, INC.		\$3.000	\$2,184.00	-75.0%
3	HAWK CON	ITRACTING LLC		\$5.000	\$3,640.00	-58.3%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT I	MARKING (PAINTED)	(YELLOW)		
Bid Rank	Department	Estimate	26,089.000	\$0.500	\$13,044.50	
1	COMBS CC	DNSTRUCTION COMPANY, INC.		\$0.150	\$3,913.35	-70.0%
2	NEVADA BA	ARRICADE & SIGN COMPANY, INC.		\$0.200	\$5,217.80	-60.0%
3	HAWK CON	ITRACTING LLC		\$0.100	\$2,608.90	-80.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department	Estimate	1.000	\$80,000.000	\$80,000.00	
1	COMBS CC	INSTRUCTION COMPANY, INC.		\$50,000.000	\$50,000.00	-37.5%
2	NEVADA BA	ARRICADE & SIGN COMPANY, INC.		\$34,500.000	\$34,500.00	-56.9%
3	HAWK CON	ITRACTING LLC		\$90,000.000	\$90,000.00	+12.5%
9250001	L.SUM	CONSTRUCTION SURVEYING AND	LAYOUT			
Bid Rank	Department	Estimate	1.000	\$35,000.000	\$35,000.00	
1	COMBS CC	INSTRUCTION COMPANY, INC.		\$64,350.650	\$64,350.65	+83.9%
2	NEVADA BA	ARRICADE & SIGN COMPANY, INC.		\$20,000.000	\$20,000.00	-42.9%
3	HAWK CON	ITRACTING LLC		\$45,136.900	\$45,136.90	+29.0%
9280034	L.FT.	GROUND-IN RUMBLE STRIP (6 INC	H)			
Bid Rank	Department	Estimate	27,825.000	\$0.400	\$11,130.00	
1	COMBS CC	INSTRUCTION COMPANY, INC.		\$0.350	\$9,738.75	-12.5%
2	NEVADA BA	ARRICADE & SIGN COMPANY, INC.		\$0.610	\$16,973.25	+52.5%
3	HAWK CON	ITRACTING LLC		\$0.220	\$6,121.50	-45.0%

### Printed: 8/25/2025 Page 5 of 5

#### \*\*\* Bid Tabs for Proposal Pamphlet 2025006 \*\*\*

Item	Unit of					Compared To
Number	Measure	Item Description	Quantity	Unit Price	Extended Amount	Dept Estimate
9280036	L.FT.	GROUND-IN RUMBLE STRIP (8 INCH)				
Bid Rank	Department	Estimate	39,924.000	\$0.750	\$29,943.00	
1	COMBS CO	NSTRUCTION COMPANY, INC.		\$0.400	\$15,969.60	-46.7%
2	NEVADA BA	ARRICADE & SIGN COMPANY, INC.		\$0.610	\$24,353.64	-18.7%
3	HAWK CON	ITRACTING LLC		\$0.220	\$8,783.28	-70.7%